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= 49,268
= 17,499
Al 31,689
301 YuHB A3 3,600 3,600 0
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Tl TAIR W FDBOAL 22 CERE)
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OJt2 d10 IaZ3 100,000& *10AH 1,000
401 Al HIZ 20HYI 100,900 101,000 A 100
01 Al &l 100,000 100,000 0
Otz &X L 014 100,000& *1,000= 100,000
03 AI& 20l 900 1,000 A 100
Otz X 2 014 900,000& 900
Stz & o FHEFINA 344,800 212,000 132,800
101 2124 d| 95,000 95,000 0
04 J|12HR22NSE+ 95,000 95,000 0
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201 LBer2gH| 3,000 0 3,000
03 A2 HI 3,000 0 3,000
OSHSHAML HASAY ELSE 7Y
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206 M Z tl 5,000 5,000 0
01 M=l 5,000 5,000 0
sSttZ2e|E UM 7 5,000,000 5,000
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Ostt2 & o4 F=H 90,000, 000& 90,000
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= 293,774
= 69,394
Al 161,920
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= 3,047
Al 7,110
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= 13,187
= 3,047
Al 7,110
01 Al&t] 23,344 37,398 A 14,054
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= 13, 187
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Al 7,110
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= %, 190
= 18,088
Al 42,089
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= 5,100
= 1,020
Al 2,380
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OBl A o THR P 8,500,008 8,500
= 5,100
= 1,020
Al 2,380
401 A2 HI L 20| 273,577 234,392 39, 185
= 152,147
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01 AtR2telH 3,000 3,000 0
Osdidna 282 & 2¢ 3,000,000 3,000
301 LB A2 26,480 19,000 7,480
10 HALAH B A2 3,000 0 3,000
O=ANXEN 29 S 3,000,000 3,000
12 JIEtE A2 23,480 19,000 4,480
OUSRAI L =I1RD| A 3,000,000 3,000
OMeI2F =&l 29 20,480,000 20,480
AR MHIAZ R0 (2 XA 13,975 27,798 13,823
= 8,385
[= 1,677
Al 3,913
101 @124 4| 13,975 27,798 13,823
= 8,385
[= 1,677
Al 3,913
04 JIZtRIRR2AISEE S 13,975 27,798 A 13,823
OLBMHIAS 201 (2L XA) 13,975,000 13,975
= 8,385
[= 1,677
Al 3,913
MBI MHAZLRO(ZEASKI22/S) 13,975 13,900 75
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[= 1,677
Al 3,913
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Al 3,913
A2l G S S 330,240 364,923 A34,683
= 169,752
[= 48,147
Al 112,341
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OMSHSHASI0 21248 210,994,000& 210,994
=2 84,398
= 37,979
Al 88,617
201 YEr2 | 8,550 8.260 290
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2 1,600
= 720
Al 1,680
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ONMTBZ A HH| 35,000
-DAQHY HXIE &X 500,000 & 304 15,000
“fIg T2 =@ 2 O 10,000,000 <24 20,000
MEHNSEH L A== HAHASE 135,000 135,000 0
101 2124l 130,000 130,000 0
04 JIZtH22UHEES 130,000 130,000 0
OZolsLNE FY 50,0003 x20H x130& 130,000
206 X = Hl 5,000 5,000 0
01 =4l 5,000 5,000 0
Ogmza oM & S (2AM SHES)
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NE BABY T4 554,500 1,909,500 355,000
=l 62,500
Al 492,000
2o 52N 22 189,000 189,000 0
101 Q1214 189,000 189,000 0
04 JI2H2RISE S 189,000 189,000 0
O3l Y 189,000,0002! 189,000
TANEE RABS 763,500 1,313,500 550,000
201 L2 Y| 115,500 85,500 30,000
01 ALR eIt 3,500 3,500 0
OOIRIOISO0IAIE BIINEAA £48
3,500, 0002 3,500
02 2RS4 112,000 82,000 30,000
OBANEES RNSL TR  90,000,0009 90,000
OBAY RI0I=0IAE £ohtha BF It
12,000,000 12,000
OBABLIANYE SEY| 10,000,000 10,000
206 T 2 40,000 40,000 0
01 T2 bl 40,000 40,000 0
OBANE 228 Xt 40,000,000%! 40,000
401 A2 HIL ST 608,000 1,188,000 580,000
01 Al &bl 600,000 1,180,000 580,000
OBHANLE & 400,000,000 400,000
OBA(A2)3HH 200,000,00024 200,000
03 Al& S CHY| 8,000 8,000 0
ozl =Yl 5,000, 0002 5,000
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SN S=X
Ha: CAIBRS J|PEs

&l R S =g RS
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
O32A&2 Ul (SX)AL 2,000,000& 2,000
O3&3 (A2 EA F 1,000,000& 1,000
SHEESZINA 477,000 407,000 70,000
401 A& HIZ 2 CHYI 472,000 402,000 70,000
01 A& HI 470,000 400,000 70,000
O=d % =X &CIAI| L SHaE
200,000,000& 200,000
OZH L =X =224 L 0[AZA
200,000,000& 200,000
O3 ¥ =W 2=] S22l SAt
70,000,000& 70,000
03 A& 20| 2,000 2,000 0
2@ Y =X MO L SFHE
1,000,000& 1,000
OBE @ =X +2 24 L OABA
1,000,000& 1,000
405 AHetFE S HI 5,000 5,000 0
01 XML EFHSHI 5,000 5,000 0
O322e&8 t=Jls 7 5,000, 000& 5,000
Olsotd FAFB(CCTV) RS ALY 125,000 0 125,000
= 62,500
Al 62,500
401 A& HIS 2 CHYI 125,000 0 125,000
= 62,500
Al 62,500
01 Al£Hl 124,100 0 124,100
OOIZOHE A& (C0TV)RE AR
124,100,000& 124,100
= 62,050
Al 62,050
03 A& R0 900 0 900
OOIZOHE AR (C0TV) RS AR
900,000 900
= 450
Al 450
SAN= =48 2 22 725,020 810,580 285,560
29 T Al 24 725,020 810,580 285,560
101 21 244| 202,500 202,500 0
04 JIZtHZ22XSE+ 202,500 202,500 0
OZAZ Al ZHAMY 012 202,500,000& 202,500
206 = bl 262,000 256,000 6,000
01 =4l 262,000 256,000 6,000
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AN sg=X1
HH: TASAE It Y
S TAlsE &4 Y 22 (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
OZEBANL (=S FEAE S)
6003 40,0002 24,000
OZTANEALANY X2 130,000,000 130,000
Ozt ZHIXA 2l 90,000& *600m*23] 108,000
401 A& HI L 204 256,520 348,080 A91,560
01 Al&H| 234,400 314,400 A 80,000
OsXAIE= 24 & JHIAFY 200,000,000 200,000
ZEs &2 22 AT 7,200,000 23] * 10 & 14,400
ouzR=2dHz2y 20,000,000& 20,000
03 Al 20| 22,120 33,680 A 11,560
OZOATAIEAEAIE &Hl XE 21,120,000 21,120
=AAEZE =4 L FUIAY 1,000,000& 1,000
405 KHAHFE S| 4,000 4,000 0
01 ML Z2EFH SHI 4,000 4,000 0
ol=Jls ¢ 400,000& =10CH 4,000
HYSHHH (sE =) 65,570 67,990 N2,420
Jl2dH(se=X1) 65,570 67,990 N2,420
J2ddl(sg=X1) 65,570 67,990 N2,420
201 dEtEHH| 18,630 18,630 0
01 AtR2t2|dl 18,630 18,630 0
EAN2Y AI222|H] 18,630,000 18,630
202 (4 Hi 42,240 44,160 A 1,920
01 2| 42,240 44,160 A 1,920
Ol 22480 (22H) 42,240,000& 42,240
203 2R F=&H| 4,200 4,200 0
04 EAN2E LR F=EH] 4,200 4,200 0
OBNSHEH2=XH|(302!0I0t)
350,000& x12& 4,200
405 XH&HFE S HI 500 1,000 A500
01 ML Z2SFH S 500 1,000 A500
OCIXEIHet (2 &2]) 500,000& 500
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